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The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following as directed : 1x5=5

oS fAAIae ot e fim

(@@ If A={x,y, z}, then the number of
subsets in power set of A is
M A={x,y, 2} =, @ AT TR

P01 SopicefS 2feq 2
i 6 () 8
(@) 7 (iv) 9
( Choose the correct answer )
(o= Tehl TR Bferear )

(b) If A={1,2,3} and B={2, 3, 4}, then
find the value of Au B.

It A={1, 2, 3) §F B ={2, 3, 4} =, (3
AU BT I Sferaar |
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(2)

sin x
: 1 .
(c) Find xifxo =

lim 32X 3 3 Sferea |
x—=0 Xx

(d) State True or False :
T 7 S o

The multiplication of matrices is not

always commutative.

(TR @ AT TR 7 |

(e} The probability of an impossible event is

SREd To1 B IR 79
(i) 001

(i) 100

(i) O

(iv) 1

( Choose the correct answer )

(o= Teqeo My Bferear )

2. Answer any five of the following questions :

o 2P R e Ao Ted o

(a) List all the subsets of the set {-1, 0, 1}.

{-1, 0, 1} 52T SHIRER Topigafe forgy |
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( Continued )

(3)

Let A and B be two finite sets such that
n(A)=20, n(B)=28 and n(Au B)=36.
Then find n(An B).

W AW B GO v 3o
n(A)=20, n(B)=28 & n(Au B) =36.
(S8 n(An B) 3 I Sferea |

If A={1, -1}, then find AxAxA.
MM A={1, -1} T, (9B AXAXAT TN
Sferea |

If lin}) f(x) =2, then find the value of
X—>
lim 36 + f(x)
x—0
M lim f()=2 =W, @ lim I6+ (3
x—0 x—0
T4 Bferear |

it a=|> | and B=|® ], then fina
Hosa'n _'cd! €n Iin

the matrix AB.

M T A=[§ g] uE e

B=[a b], (T (&% ABI T4 g 311

c d
If 28x :=g ;2(, then write the value
of x.
e _2'@ B xI TN
8 x 7 A 4
Tferear |
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(4) | (5)

2

(9) Find '-d—g, if y=5cosx—-3sinx. 60 & TFEI bl WS (A @ 25 T
vt Tz H TeR-9E I, 26 Tl T o917
d?y oG, 26 G I IroR-FRo 08, 9 T H ¢
Ixa—?,qﬁ Yy=Scosx—3sinx = | 1 T4 g5, 11 e H S TW 575,
8w T I I YCAIRGA TG, 3 | S0
Rofe TER-FFS 408 | T 997 o[ -FFS

oG] T TR Sfer e |
(b) Define the function f:R—R by
(=3, V¥ xe R. Draw the graph of the
function f and find the domain and

- g Sferedt

(h) Find the derivative of
f(x =1n(x3 +3x-4)

F0) =1In(x3 +3x —4) T SGFeTS Tferaq |

i) Define random experiment with sui
. examples. ° DR ' range of f. - 3+1+1=5
v . FiR >R TR TR ST [ AR
foes “ARFR TS TS SHRIAR (TCS BT | f(x)=3, aoF xeRT WA fFTH &
(i) A coin is thrown 3 times. What is the <l S SfcRa S #{fReE T w1
probability that at least o head i ; : i
e ne head is (c) gls;t’lg properties of determinant, prove
<51 e @ 3 I[ wlered 24 | wfeIeRe bl i Rrefrger ol sl SR, 4T T @
T8 219 @RA Sfeifdel 4T F41 1 D Rai L
-4 -2 6|=0 5
3. Answer any four of the following questions : 3 .0 inN2
o PR R I BIRBR Te i 5x4=20 o 2 4
(a) In a survey of 60 people, it was found @ 1f A =L 3 1] and B=|0 1|, then
that 25 people read newspaper H, Sk S
26 read newspaper T, 26 read news: prove that AB # BA.
paper I, 9 read both H and I 11 read J 2 Wi
: e A= E (T
goth H and T, 8 read both T and I o 5 [1 1t 1
ST o e 4
0 rea :
one newspaper. sxactly 5 B=(0 1|/ RN QAR HA
A25/255 5
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(e)

(9)

(h)

A25/255

(6)

Given that
==
sin x
Faelpas ¥20
24 x=0

Test the continuity of f(x) at x =0.

T f(0) T x =0'S SfifozaoR 3 4 |

Using chain rule, find the derivative of (L‘E L

e RfE ez 3R s v
(S.w:3 +2x-7)°

A fair coin is tossed 10 times. Find the

probability of getting exactly five heads. 5
@61 g 3@ 109/ br 31 24 | 5% <imwor g

18 (ZRIR SRSl ey 47 |

Given P(A)=1, p@=1 d

2: = & an

P(AUB) =, then find ) P( B) and

(ii) P(An B). 5
f s PU)=, PE)=7
P(AuU B) =é, (®® (i) P(AnB) 9=

(i) P(An B)3 I Sferea |

( Continued )

[\8)
o

(7))

4. Answer any one of the following questions :

o 2PPTRE R I @OR e fa

(@)

(b)

A25/255

i) In a group of 60 people, 27 like cold

drinks, 42 like hot drinks and each
likes at least one of the two drinks.
How many like both the drinks?
60 T A+2I 1 0TS (71 A @ 27 T
R cold drinks S 9, 42 &g RIC[ES
hot drinks ©F R HF ACF &
TR SIS 9Ol drinks S o |
R TR (A0 drinks ST “{R ?

(ii) Prove the following by using Venn
diagram :

TS AN (oA 5 2R 21 37
(1) A=(AnB)U(A-B)
(2) AuB-A)=AuUB

(i Prove that every
function is continuous.

‘ﬁﬂT‘IWC‘ImTﬂ?W
SR |

() Find the derivative of the following
functions w.r.t. x:

x 9 T S FoEIAT SIS o]
1

1 _—

(1) 22

(2) sin? x

polynomial

10

2%+2%2=5
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(8)

() () Find X and Y, if

2

XEF Y3+ e 591, 3
X+Y=[z gjl and (WF?)X—Y=[2 g} 5

(i) What positive value of x makes
the following pair of determinants

equal? 5
X3 CT9= TR IR oo R @[
RRIC RS B

2% .3 16 3

5 x| |5 2\

(d) (i) If Aand B are any two events and
are not disjoint, then show that

W@TWWAWBWW,CGC@
(S @

P{AUB)=P(A)+P(B)—P(AF\B) 5 |
If A and B are

two events, such
that P(4)

=0-4, P(AUB)=0.7 and
P(B) = p, then for what value of p, A
and Bare (1) Mmutually exclusive and
(2) independent? OVa+2Ya=5

W A W% p Bl S, P(a)=0-4,
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